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MID TERM EXAMINATION
CLASS: X1
SUBJECT: CHEMISTRY
TIME : 3 HRS. M.M. 60
General Instructions :

1)  All questions are compulsory.

if) Questions 1-5 are very short answer type questions carrying I mark
each.

iii) Question 6-9 are short answer questions, carrying 2 marks each.

iv) Question 10-20 are also short-answer guestions, carrying 3 marks
each.

v)  Question number 21 is a value based question carrying 4 marks.

vi) Question 22 and 23 are long answer questions carrying 5 marks
each.

vii) Use log Tables, if necessary. Use of calculator and the other
electronic device is not permitted.
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Outof 2 and 3s which has larger energy ?

5. O] S 120 9 @ 1 [UPAC A T8 TREHeh Feitsh
21 2 1

What would be the [UPAC name and symbol for the element with atomi
number 1207 '
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* R ms=+~+ !

i) How many sub shells are associated with n=>5 ?

ii)  How many maximum BIE:(:IIQIIE will be present in the subshells
.[ ; having ms value ++ of for n=5? '
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State the law that gives relationship between volume and temperature of

. T

also. 2 3
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T ST o T 69% B R e e 1.41gml @l 3
(HNO, =1 1 o991 = 63g mol™)

Calculate the concentration of nitric acid in moles per litre in a sample
which has density 1.41 gml” and the mass percent of nitric acid in it
being 69%. ' :

Define molarity and molality. Which
‘temperature and why?
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CaCO,(s) + 2HCl@g) — CaCl,(ag) + CO.(® + HOW

srffsean mﬁ%ﬁmcaco,ﬁﬁ:ﬁ&

0.75M HC1 3 25ml 3 51 ot
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Account for the following :

i) Ionisation enthalpy of nitrogen (Z=7) is more than that of oxygen
(Z=8)

ii) Noble gases have large positive electron gain enthalpies.

iii)  Ananion is always bigger than its parent atom.
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Among the elements N, O, F and Cl: Pick mtthc&ﬁncnt.
a) Which has highest first ionization enthalpy.

i

b)  Which has most negative electron gain enthalg

c) Which has biggest atomic radius ?
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AlCL + CI" - AICI
@) NO,E T Ee s i)
M) o e R ey § e T wifag)
a) Describe the change in hybridisation of the Al atom in the

following reaction

AICL + CI” — AICI

b)  Draw resonating structures of NO," ion.

18. &)
=)
a)
possible temperature ?
b) An open beaker at 27°C is
would have been expelled out ?
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a) Out of CO, and He, which gas have higher value of VanderWaals

pressure 7 _
c) Calculate the volum
pressure. .

[Given molar mass
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Shilpa visited her grandfather's village and saw that the village
using borewell water for drinking purpose. She obsm'ved that many
villagers were suffering from cancer. She ok a water sample and
approach to doctor of primary Health Centre. Doctor -

testing that water is severely contaminated with chlorog
carcinogenic. The level of concentration was ISMBEM [Given
molar mass CHC¢, = 119.5gmol" i

a)  Expressthe concentration in percent by mass.

b)  Determine the molality of CHC inwater sas

c) Mention the values exhibited by Shllipa,
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Write the electronic configuration of Cr(Z=24) Why is it

different from the €xpected configuration ?










